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Here, I add the hundreds, then

tens, and then ones. lf I added

starting with the ones, the totals
would still be the same because

I am adding the same parts!

Z. Dana counted 59 peaches on one tree and 87 peaches on another tree. How many peaches were on

both trees? Add like units and record the totals below to solve-

? peeches

5g
+87

746

L46 peaches were ar, $afft arees'
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tesson 29: Use and explain the totals below method using words, math drawings.

and numbers,
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1. Add like units, and record the totals below-

I add all the
ones, tens,

and hundreds.

Look, there
are L0 tens!
That's the
same as

t hundred 0
tens" I record

the hundred
on the line.
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6tens*5tens:
11 tens, or 1
hundred 1 ten.
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